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Solving Quadratics 4 by 4
Directions: For each level, you will have four quadratic equations to solve. You must give thglexact solutions lo all four of the questions in the boxes prowded
You must use.each of the following algebraic solving methods for each level 1) factoring 2) square roots 3) completing the square and 4) quadratic formula.

In the box next to the level, the sum of the real solutions and the real parts of the complex solutions for all four problems are listed.
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You are doing great! Keep it up!
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